SM2 Unit 12 test review answers
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GK,EF,or HC
EF

HC

BD

L], LH, or LC
B

L

35°, minor
145°, minor

. 215° major

. 53° minor

.x =132°

. x =26°

. x =545°

.y =42°

. x =89°

. x =90°y = 28°

. x =102°y =83°
.x=4

.x=15

. AB is tangent to the circle
. AB is not tangent to the circle
. 6rcm, 18.8 cm

. ?nft,29.3ft

. 6min?,18.8 in?
135 .2 .2
. =, T mi® or 212.1 mi
x=12
7
4
x=6
x=7

3. x2+(y—4)?=4

33. (x+3)2+(y+8)2=36
34. center: (4,—1), radius: 1
x—49*+@+1*=1

35. center: (—1, 2), radius: 3
(x+12+(y—-2)2=9

36. center: (—3,1), radius: 2
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37. center: (4,0), radius: 5
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